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NEW QUESTION 1

You want to configure Layer 2 services over an IP-based tunneling mechanism between two sites. Which configuration statement is required to accomplish this

task?

A. Set interface gr-0/0/0.0 family bridge

B. Set interface ip-00/0/0.0 encapsulation valn-bridge
C. Set interfaces gr—0/0/0.0 encapsulation vlan-bridge
D. Set interface ip-0/0/0.0 family bridge

Answer: A

NEW QUESTION 2

Exhibit.

***Exhibit is Missing***

Which two statements are correct. (Choose two.)

A. Route 2001:2244:3311:321:233::.128 has been prepended.
B. The active path t02001:2244:3311:321:233::.128 will exist using interface irb.433.

C. Route 2001:2244:3311:321:233::.128 will be advertised to an EBGP peer in AS 62553.

D. The AS path shows two hops to their IBGP routers within autonomous system 62553.

Answer: AD

NEW QUESTION 3
Exhibit.
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Referring to the output shown in the exhibit, which statement is correct?

A. 11.0.0.108.32 is being per-flow load-balanced.
B. 11.0.0.102/32 is being per-flow load-balanced.
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C. 11.0.0.108 is being per-packet load-balanced.
D. 11.0.0.102/32 is being per-packet load-balanced.

Answer: D

NEW QUESTION 4
Exhibit.

Both the R1 and R2 devices are advertising prefix X into AS 65530 with the BGP attribute shown in the exhibit.
Which statement is correct in this scenario?

A. R2's version of prefix X will be active because of the local preference attribute.
B. R1’s version of prefix X will be active because of the local preference attribute.
C. R1’s version of prefix X will be active because of the AS path attribute.
D. R2’s version of prefix X will be active because of the AS path attribute.

Answer: B

NEW QUESTION 5
Which two statements are true about high availability on Junos devices? (Choose two.)

A. BFD is faster at detecting failures than default GRE or OSPF timers.

B. NSR is independent of helper routers to assist the routing platform in restoring routing protocol information.
C. NSR is dependent on helper routers to assist the routing platform in restoring routing protocol information.
D. BFD is slower at detecting failures than default GRE or OSPF timers.

Answer: AB

NEW QUESTION 6

Which Junos feature allows you to combine multiple interface into a single bundle?
A. VRRP

B. Virtual Classis

C.LAG

D. NSB

Answer: C

NEW QUESTION 7
Exhibit.
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able bgp.l3vpn.(

Referring to the exhibit, why is the route for 10.5.5.5 hidden?

A. Itis an L3VPN route.

B. The next hop cannot be resolved.
C. It has an invalid community.

D. Itis a Martian route.

Answer: B

NEW QUESTION 8

What are two reasons for configuring more than one VLAN on a switch? (Choose two.)

A. A group of clients requires that security be applied to traffic entering or exiting the group's devices

B. A group of devices must forward traffic across a WAN.
C. A group of devices are connected to the same Layer 3 network.
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D. A group of clients requires that the group's devices receive less broadcast traffic than they are currently receiving

Answer: AD

NEW QUESTION 9
Exhibit.

Which two statements are correct? (Choose two.)

A. The ge-0/010 interface will not participate in the RSTP topology.

B. This device must be selected as the root bridge.

C. The ge-0/0/13 interface will be selected as the forwarding interface.

D. The ge-0/0/10 interface will be part of the RSTP topology but will block incoming BPDUSs.

Answer: AC

NEW QUESTION 10
Which two requirements must be satisfied before graceful restart work? [Choose two)

A. a stable network topology

B. a neighbor configured with BfD

C. a neighbor configured with graceful restart

D. a neighbors with an uptime greater than an hour

Answer: AC

NEW QUESTION 10

You are adding a new EX4300 member switch to your existing EX4300 Virtual Chassis. However, the new member is not running the same Junos version as the
other members.

By default, what is the expected behavior in this scenario?

A. The virtual Chassis will transition into a brain situation between the existing master Routing Engine and the switch running the different version.
B. The new switch will be assigned a member ID and then placed in an inactive state.

C. The new switch will be assigned a member ID and then placed in an inactive state.

D. The new switch is not recognized by the virtual Chassis.

Answer: C

NEW QUESTION 13

What are two advantages of a point-to-point OSPF adjacency? (Choose two.)

A. Only a DR is elected.
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B. No type 1 LSAs are generated.
C. No Type 2 LSAs are generated.
D. There are quicker neighbor establishment.

Answer: CD

NEW QUESTION 16
Exhibit.

Your switches are managed using Junos Space Network Director. You want to secure the switches using a Network Director filter profile. A filter profile containing
one term shown In the exhibit is deployed to ports on managed devices.
Which traffic will be accepted by the filter?

A. Traffic containing a destination MAC of 02:85:05:00:00:00/24 will be accepted.
B. All traffic will be accepted.

C. Traffic containing a source MAC of 02:85:05:00:00:00/24 will be accepted.

D. No traffic will be accepted.

Answer: C
NEW QUESTION 17

You configured a GRE that traverses a path using default MTU settings. You want to ensure that packets are not dropped or fragmented.
In this scenario. What is the maximum packet size that would traverse the GRE tunnel?
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A. 1500
B. 1400
C. 1524
D. 1476

Answer: D

NEW QUESTION 21
Exhibit.

Which statement is true about the configuration shown in the exhibit?

A. Both the add-community and local-pref import policies will be evaluated routes are learned from neighbor 172.30.2.1.
B. Only the local —pref import will be evaluated when routes are learned neighbor 172.301.1.

C. No import policy will be evaluated when routes are learned from neighbor 172.30.2.1.

D. Only the add-community import policy will be evaluated routers are learned neighbor 172.30.1.1.

Answer: B

NEW QUESTION 24

You have a conference room with an open network port that is used by employees to connect to the network. You are concerned about rogue switches being
connected to this port

Which two features should you enable on your switch to limit access to this port? (Choose two.)

A. DHCP snooping

B. dynamic ARP inspection
C. MAC limiting

D. 802.1X

Answer: AB

NEW QUESTION 29
Which OSPF packet type is sent when an OSPF router detects its database is state?

A. Database description

B. Hello

C. Link-state acknowledgment
D. Link-state request

Answer: D

NEW QUESTION 31

Which mechanism is used to share routes between routing tables?
A. RIB groups

B. routing instances

C. forwarding instances
D. filter-based forwarding
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Answer: A

NEW QUESTION 35
Exhibit.

Based on the traceoptions output shown in the exhibit, what is the problem with the adjacency?

A. authentication mismatch
B. area mismatch

C. connectivity

D. MTU mismatch

Answer: B

NEW QUESTION 36

Which two statements are correct regarding the root bridge election process when using ST P? (Choose two )
A. A lower system MAC address is preferred

B. A higher bridge priority is preferred

C. A lower bridge priority is preferred

D. A higher system MAC address is preferred

Answer: AC

NEW QUESTION 40
Exhibit.
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Which statement is true about the configuration shown in the exhibit?

A. The preferred next hop is 172.30.25.5.

B. The preference for the 172.30.25.5.1 next hop is 7.
C. The preference for the 172.30.25.1 next hop is 5.
D. 172.30.25.5.1 is the preference next hop.

Answer: A

NEW QUESTION 42
Click the Exhibit button.

ISP A
AS 65501
.
i
6‘ {'.-
&G.a --.-

Rs

MyNET (AS 65503)

Referring to the exhibit, which two statements about BGP prefixes advertised by R1 to AS 65501 are true? (Choose two.)

A. R1 will modify the originator ID attribute in prefixes advertised to AS 65501
B. R1 will modify the AS path attribute in prefixes advertised to AS 65501

C. R1 will modify the next-hop attribute in prefixes advertised to AS 65501

D. R1 will modify the cluster list attribute in prefixes advertised to AS 65501

Answer: AC

NEW QUESTION 44
You must implement filter-based forwarding. You need to direct traffic from 192.168.1.0/24 through vrl and traffic from 10.210.0.128/26 through vr2.
Which configuration is correct in this scenario?
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A. firewall { family inet {filter fbf-filterl {term match-192-subnet { from {source-address {192.168.1.0/26;}}then {routing-instance vr2;}}term match-10-subnet { from
{source-address { 10.210.0.128/26;}}then {routing-instance vr1;}}}}}
B. firewall { family inet {filter fbf-filter1 {term match-192-subnet { from {source-address {192.168.0.0/24;}}then {routing-instance vrl;}}term match-10-subnet { from
{source-address { 10.210.0.128/27;}}then {routing-instance vr2;}}}}}
C. firewall { family inet {filter fbf-filterl {term match-192-subnet { from {source-address { 192.168.2.0/26;}}then {routing-instance vr2;}}term match-10-subnet { from
{source-address { 10.210.1.128/26;}}then {routing-instance vrl;}}}}}
D. firewall { family inet {filter fbf-filterl {term match-192-subnet { from {source-address { 192.168.1.0/24;}}then {routing-instance vrl;}}term match-10-subnet { from
{source-address { 10.210.0.128/26;}}then {routing-instance vr2;}}}}}

Answer: D

NEW QUESTION 45
Which statement is true about IP-IP tunnels?

A. Intermediate devices must have a route to the destination address of the traffic being tunneled.

B. Intermediate devices must have a route to both the tunnel source address and the tunnel destination address.

C. Intermediate devices must have a route to the tunnel destination address but do not require a route to the tunnel source address.
D. Intermediate devices must have a route to the tunnel source address but do not require a route to the tunnel destination address

Answer: B

NEW QUESTION 49
When configuring firewall filters, which function does the interface-specific parameter enable on an EX Series switch?

A. The interface-specific parameter is required to configure port-specific counters.

B. The interface-specific parameter is required to configure VLAN-specific counters.
C. The interface-specific parameter is required to configured VLAN-based filters.

D. The interface-specific parameter is required to configured port-based firewall filters.

Answer: A

NEW QUESTION 51
Click the Exhibit button.

[edit]

userfroutert run show route protoccl aggregate

inet.0: 9 destinaticna, 10 routes (% active, 0 holddown, 0 hidden)

+ = Actiwve RBoute, - = Last RZctive, * = Both
172.12.16.0/20 *[Agoregates130] 00:00:32
Discard

Given the route shown in the exhibit, which two prefixes contribute to the aggregate route? (Choose two.)

A.172.12.31.0/24
B. 172.12.33.0/24
C.172.12.30.0/24
D. 172.12.32.0/24

Answer: AC

NEW QUESTION 52

What is the default BGP group type on a Junos device?
A. Internal

B. External

C. Multihop

D. null

Answer: B

NEW QUESTION 53
Exhibit.
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In the exhibit, each IP subnet in the network is associated with a unique VLAN ID Which action wilt ensure that Host C will communicate with host A and Host B?

A. Configure an IRB interface for each VLAN and associate it with its corresponding VLAN

B. Configure all switch ports connecting to the host devices as access ports associated with a common VLAN.
C. Configure a port-based ACL that permits inter-VLAN routing for all configured VLANS.

D. Configure all switch ports connecting to the host devices as trunk ports associated with all VLANS.

Answer: B

NEW QUESTION 57

Which statement is true about Layer 2 firewall filters on EX Series switches?
A. They are stateless and evaluated by the control plane.

B. They are stateless and evaluated by the forwarding plane.

C. They are stateful and evaluated by the forwarding plane.

D. They are stateful and evaluated by the control plane.

Answer: C

NEW QUESTION 61
Exhibit.
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Referring to the exhibit, the local router should have an I1S-IS adjacency with a neighboring router, but the adjacency never establishes correctly.
What should you do to solve the problem?

A. Disable wide metrics.

B. Change the local IS-IS area ID to 49.0002.
C. Disable level 1 for the interfaces.

D. Disable level 2 for the interfaces.

Answer: B

NEW QUESTION 63
Click the Exhibit button.

user@PRl1f show interfaces l1lo0
unit 0 {
family inet {
address 10.42.0.1/32;
}
family iso {
address 49.0002.0010.0042.0001.00;

user@Rlf show protococls isis
interface ge—0/0/1.0 {

level 2 disable;
H

interface 1l00.0;

user@R2f show interfaces lo0
unit 0 {
family inet {
address 10.42.0.2/32;
}
family iso {

addresas 45.0001.0010.004£2.0002.00;

}
}
Referring to the exhibit, which configuration change is needed for an I1S-IS Level 1 adjacency between R1 and
R2?

A. Configure the 100 family ISO address 49.0002.0010.0042.0002.00 on R2
B. Configure the 100 family ISO address 49.0002.0010.0042.0002.00 on R1
C. Enable Level 2 on R1’s ge-0/0/1 interface
D. Disable Level 2 on R2’s ge-0/0/1 interface

Answer: A

NEW QUESTION 64
Click the Exhibit button.
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user@router> ahow bgp neighboer 1%2.168.200.2

Pamsr: 152.168.200.2+17% As 11685 Local: 152.168.200.1+45465% A3 T029
Type: External State: Established Flags: <ImportEval Sync>
Last State: OpenConfirm Last Event: RecvEeepAlive
Last Error: None

Options: <Preference AddresaFamily PeerAS LocallhS Rib-group Refresh>
Address families configured: inet-unicast inet—-vpn-unicast lZvpn-signaling

Hoeldtimes: 90 Prefsrence: 170 Local AS: 7029 Local System AS: O
Mumber of flap=: 0O

Pear ID: 10.8.241.31 ILocal ID: 10.8.241.30 Active Holdtime:

Foocpalive Interval:30 Group index: 0O FPeor index: O
BFD: disablesd, down
Local Interface: xe-0/2/3.0

NLRI for restart configured on peer: inet-unicast inet-vpn-unicast 1l2vpn

NLRI adwvertised by peer: inet-unicast
NLRI for this asasion: inst-unicast
Paasr support=s Refresh capabilicy (2)
Stale routes from peer are kept for: 300
Foeor doess not support Restarter functionality
NLRI that rastart is negotiated for: inst—unicast
HLRI of received end-of-rib markers: inet-unicast
WLRI of all end-ocf-rib markers sent: inet—-unicast
Feer supporta 4 byte A3 extension (peer-as 11685)
Paar doas not supposrt Addpath
Table inetc.d Bit: 10000
RIB State: BGSP restart is complete
Send state: in sync
Active prefixes:
Feaceived prefixes:
Accaptead prefixes:
Suppresssd due to dumpingz

oo 00O

Advertised prefixes:
Laat traffic (asecondsa): Received 17 Sant 17 Checked 17

Input messages: Total 2 Updates 1 Refreshes 0O Ocstets 42
Cutput messages: Total 3 Updates 0O Refreshss 0O octets 136

Cutput Queus[0]: O

Your router is configured to peer with your ISP’s router using BGP. You can only control your BGP configuration.

Which address families are negotiated between the two BGP peers shown in the exhibit?
A. inet-unicast inet-vpn-unicast 12vpn-signaling

B. inet-unicast

C. inet-vpn-unicast

D. inet-unicast inet-vpn-unicast 12vpn

Answer: B

NEW QUESTION 66

Passing Certification Exams Made Easy

visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy JNO-348 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/INO-348/ (94 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual JN0-348 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
JNO-348 Product From:

https:/lwww.2passeasy.com/dumps/IJNO-348/

Money Back Guarantee

JNO-348 Practice Exam Features:

* INO-348 Questions and Answers Updated Frequently
* INO-348 Practice Questions Verified by Expert Senior Certified Staff
* INO-348 Most Realistic Questions that Guarantee you a Pass on Your FirstTry

* INO-348 Practice Test Questionsin Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

